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1. Which of the following qualitative characteristics may have to be sacrificed in order to achieve
timeliness?

a. relevance
b. reliability
C. comparability
d. predictive value
2. A change from LIFO to E—'IFO should be accounted for
a. by footnote disclosure only
b. by cumulative effect adjustment
c. currently and prospectively

a

by prior period restatement

3. In a statement of cash flows, which of the foliowing events would be classified as a financing activity?
a. purchase of a trading security
b. payment of interest on a loan
€. payment of cash dividends to stockholders -

d. band c are both fmancmg activities

4. Which of the following would not result in a permanent difference between pretax financial income and
taxable income?

a. product warranty costs -

b. premiums paid for life insurance policies on officers of the company

c. interest revenue received from investments in municipal bonds

d. percentage depletion in excess of cost deplehon on wastlng assets
5. Realization occurs when

a. revenues have been earned .

b. noncash resources are converted to cash or rights to cash

c. anitemis formally recorded in the books

d. anitemis reportedin a company's financial statements

6. When calculating earnings per share dividends declared on non-cumulative preferred stock, but not
paid, should be

a. added to net income in the earnings per share numerator

b. excluded from the earnings per share humerator

c. déducted from net income in the earnings per share numerator
d. deferred from the earnings per share numerator until paid
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7. Which of the following is not part of the stockholders' equity section of the balance sheet?
a. working capital

b. contributed capital

¢. treasury stock

d. retained earnings

8. Which of the following regarding trading securities is correct?

a. Trading securities are reported at cost on the balance sheet date, and unrealized holding gains
and losses are included in income of the current period.

b. Trading securities are reported at fair values on the balance sheet date, and unrealized holding
gains and losses are included in income of the current period.

c. Trading securities are reported at fair values on the balance sheet date, but unrealized holding
gains and losses are not included in income of the current period.

d. Trading securities are reported at cost on the balance sheet date, but unrealized holding gains
and losses are not included in income of the current period.

9. The factors involved in computing periodic depreciation charges for an asset do not include the

a. met_hod of cost allocation

b. current value of the asset

c. service life ‘

d. residual value of the asset

10. Which statement regarding income concepts is not true? '

a. Revenues and expenses are more consistent with the trahsaétional approach to income
measurement than with the capital maintenance concept.

b. The capital maintenance approach to income measurement does not have to rely on historical
cost.

c. The capital maintenance approach to income measurement is the approach used in accounting

today.
d. The transactional approach to income measurement is applied using thé‘accrual basis of
accounting.
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